(c) Efficiency in the composition of output (product-mix)
The third possible way of increasing social welfare is a change il:l the product-mix.
o-optimal state in an economy we

To define the third marginal condition of a Pareto-optima 5 Recall th
will use the production possibility curve, which we derived in Chapter 22. Recall t aE
oduct) transformation

the slope of the PPC is called the ‘marginal rate of (pr _ ‘
(MRPT, ), and it shows the amount of Y that must be sacrificed in order to obtain
| PT is the rate at which a good can be

an additional unit of X. In other words the MR

transformed into another. .
The marginal condition for a Pareto-optimal or -efficient composition of output re-
quires that the MRPT between any two commodities be equal to the MRS between the

same two goods:
MRPT, ,= MRS%, = MRS},

Since the MRPT shows the rate at which a good can be {ransformed into another (on
the production side), and the MRS shows the rate at which consumers are W}llmg to
exchange a good for another, the rates must be equal for a Pareto-optimal situation

to be attained. Suppose that these rates are unequal. For example assume

2Y 1Y

MRPT, , =1x and MRS, , =1Ix

that is,
MRPT, ,> MRS, ,

The above inequality shows that the economy can produce two units of Y by
sacrificing one unit of X, while the consumers are willing to exchange one unit of Y
for one unit of X. Clearly the economy produces too much of X and too little of ¥
relatively to the tastes of consumers. Welfare therefore can be increased by increasing
the production of Y and decreasing the production of X. (This example was presented

in more detail in Chapter 22, page 503.) .
In summary. A Pareto-optimal state in the economy can be attained if the follow-

ing three marginal conditions are fulfilled:

1. The MRS, , between any two goods be equal for all consumers.
2. The MRTS, x between any two inputs be equal in the production of all

commodities. -
3. The MRPT, , be equal to the MRS, , for any two goods.

A situation may be Pareto-optimal without maximising social welfare. However,
welfare maximisation is attained only at a situation that is Pareto-optimal. In other
words, Pareto optimality is a necessary but not sufficient condition for welfare maxi-
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._tion. All points on the
m\:zagareto-ogtimal states I:e’;gi:re Pareto-optimal. The choice among these alterna-
tlubscquent section we will uge :s Some measure or criterion of sociil ::ﬁ';eeln a
suDse ne such criterio e ercial we
function. n, namely Bergson’s social welfare

5, THE KALDOR-HICKS ‘CoMPENSATION CRITERION’
N

Nicholas Kaldor' and John Hicks?

e welfare eriterion. $" suggested the following approach to establish-

that a change i :
(-g:i;s:l:}; and hut ol:g: r?(‘t]l;:ee;?)m())tﬂz :;:e:;l% f}(:nsidered, which will benefit some

. ' ¢ ‘gainers’
wouléi l:;egr;mzdb?p[::y alrnedorder to have the chan?e, a::;i l:ﬁ: g:rt;"rll:::vcyn:gzl);
g}o::l gney the ‘gainers? S g::alt)eary g: ordt;.: to prevent the change. If the amount
: : > an the ‘ g

constltlltes, an improvement in social welfare be;?:: ?l:e?f t:;r l’OserL; b
the ‘losers’ and still have some \ e Hicks ‘compensation

‘net gain’. Thus, the Kaldor-Hicks ‘com i
¢ ‘losel : ! pensation
criterion’ states that a change constitutes an improvement in social welfare if thlose

;gto ;:il:l?ﬁt from 1t could compensate those who are hurt, and still be left with some
The Kaldpr—chks criterion evaluates alternative situations on the basis of mon-
etary valuations ‘?f different persons. Thus it implicitly assumes that the marginal
}Itillty of money 18 Fhe same fpr all the individuals in the society. Given that the
income distribution is unequal in the real world, this assumption is absurd. Assume,
for example, that the economy consists of two individuals, A4, who is a millionaire,
and B, who has an income of £4000. Suppose that the change (being considered by
the government) will benefit 4, who is willing to pay £2000 for this change to happen,
while it will hurt B, who is prepared to pay £1000 to prevent the change. According to
the Kaldor—Hicks criterion the change will increase the social welfare (since the ‘net
gain’ to A, after he compensates B, is £1000). However, the gain of £2000 gives very
little additional utility to millionaire A, while the ‘Joss’ of £1000 will decrease a lot the
well-being of B, who has a much greater marginal utility of money than A. Thus the
total welfare will be reduced if the change takes place. Only if the marginal 1}tﬂlty Of
money is equal for all the individuals would the Kaldpr—chks_ criterion be a ‘correct
welfare measure. This criterion ignores the exls_tmg income distribution. In fact this
criterion makes implicit interpersonal comparisons, S‘;we 'lttha;%illl'g:; tﬂil:::;;i:ame
amounts of money have the same utility for individuals with €I '
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